ProTrap™ For Dakota Instructions

Iltem Part No.

1118337
1118305
1700400
1700434
1700407
1118306

Part Name

Hopper Parts Kit, Dakota
Bearing Retainer, Dakota
Self-Tapping Screw, 3/8" x 1"
Lock Washer, 3/8"

Hex Nut, 3/8”

Door Stop, Dakota

oD~

Door Stop:

STEP 1: Remove existing door stop located on bottom side of
hopper door. Replace with door stop provided in kit.

BOTTOM SIDE OF
HOPPER DOOR

Bearing Retainer:

NOTE: Install bearing retainer if more than 1/8” clearance
exists between teeth of pinion and rack. Retainer is used to
maintain engagement between the rack and pinion on the
bottom of the hopper door.

STEP 1:  Remove bearings and pinion shaft. With a die grinder or
small jig saw, elongate holes in hopper rail to allow pinion

shaft to fully engage into rack on hopper door.

ELONGATE HOLES
BOTTOM SIDE OF

”/
HOPPER DOOR L= 12

PO BOX 713 = 2309 SHUR-LOK STREET
YANKTON, SOUTH DAKOTA 57078-0713
PH. 1-800-474-8756 = FAX 605-665-0501

P/N 1118333 Rev. C

STEP 2:  Re-install pinion shaft, placing bearing retainers on inside
of hopper rails.
BEARING
RETAINER
HOPPER RAIL

Push pinion shaft up into bearing retainers as far as
possible and tighten bearing bolts.

2

BEARING
RETAINER™ ¥

BEARING BOLT

Y
Y
Y
Y
Y
Y
VA
Y

»“
Y

: \VA A .,’@
STEP 4:  Drill two 5/16” holes through upper holes in bearing retainer
plates and fasten with 3/8” x 1" self-tapping screws, lock
washers, and nuts.

@ DRILL 5/16” HOLES 2 e

.0@\, @ PLACES EACH SIDE OF —
) HOPPER DOOR
NUT/ @ '/f . —
LOCK WASHER ?///“
7
f' 20
N
[ 31{EPP)I(N(;I sggll_;/\-/ “ <
STEP 5: Repeat instructions on opposite side of hopper door.

eNUiNnes SHUR-CO.® HELP LINE
CALL: 1-800-748-7435

www.shurco.com



